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Day 08 Solving Radical Equations Notes & HW Name
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How to Solve a Simple Radical Equation

1. Isolate the radical.

2, Raise both sides of the equation to the power of the index.
3. Simplify.

4. Check for extraneous solutions.
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How to Solve an Equation with Rational Exponents:
1. Isolate the variable or expression that is raised to the power.
2. Raise both sides of the equation to the reciprocal power of the rational exponent.
3. Simplify.
4. Check for extraneous solutions.
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How to Solve an Equation with Two Radicals:

2. Raise both sides to the power of the index.
3. Simplify and solve for the variable.
4. Check for extraneous solutions

1. Isolate one of radical on each side of the equation.
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How to Solve an Equation with Two Radicals:

1. Isolate one of radical on each side of the equation.

2. Raise both sides to the power of the index.
3. Simplify and solve for the variable.
4. Check for extraneous solutions
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